Vicmarc Escoulen Chuck by Jean Francois

VICMARC Eccentric Chuck #3 — By francosmith.com



F11 VICMARCO|

=
ols

of ol A= &0l TR}

CHUCK DESCRIPTION

VICMARC - Escoulen

o L
._m.._ A_l —kv 0 . N K
10 on \ O o — — _._.__H m_
R 5 s [¥o) ﬂ [
~ K [l V- 0 m ~
X oo El WVIN Al IS
% £ o3 4 ~ S
LH < \ o) S
ot \ 3 S &l
— ujn K =
i) Cile) - 2y N
7| oF ol O o =
- b o0 0 2 7l
Wt - & KO < (o]
w o — M ot oT &8
ol °
< o ol i gl __
_or ol O o zl K
Wou T " ~ B
ol 7z b 5 <M
rr A oF ul
£ AT O oF L
cmooE x o]
ol = A = .
2o = o 2 i D
S R’ 0 olJ %0 " B
.o __A/_. XF = N _
oI CIR=) by 1o 0 =
3 oI m H._..Al 4 ..__m = Rl = 10 or
AT R < o 7 Uz
S = 2 R X & =3
JF m K ~ Hl <] =)
un & < o BN \ S o ™ of o =
o4 Uy = = u < o] o Losp O
~m S & g M | m.m o o <0<
o = s o a Il o - ™ %S E T
o TR K & &9 £ = K AN ol oK Ho 2
Hr =y YT uo 5 1 N = o yu oo = . [=]
wroo o Koo Sm E =1 K — < e =
1! 80 = g0 " ° % s © < K
o7 O dm 2 Hio o LT - W up
CIR 3 M = = M.M h__ﬂ_d oF E_ﬁﬂ ) B T g WO
2o % o R B g Koo A_ W ko m_m W=~ =
1ol = o & 0l | i ol K =~ = o == o o% &0 o —
1 T HZ _DP L o- KO T W T ol ~
. 1 ooon G+
R ] CE Ko B o< U om0 U o o O
[y m: T mE 535 | o BoMoa oz & B E S o o
— — Loy o < =T X 0 N
S %1 oo _ g5 | T oo 0 oF = 2 R o UK
Bl < 2 H = ol 2y L = (K
> BF I 5= ﬂ T & 00 Bl S
o XN TP =2 2 g o ¢ Tu Ra T
5 Y"ms ® ¢ Hou <Ry — o T o W
0/l &0 J0 o S = N [CU— LTI <
o oA m Y2 \ P A = . v fo - Koop K
oy s oS z\ ow of T om o M oEmRD o 51 S F o K
= TR gu W\ S of = ¥ X 4 & = o3 oo W T oo
T WIs g a ||z o o = X < o Kecta w T o S i
- J— —_ ] —_ —_ -
T or O 0k B oo a2 I s op ™ 8 Jo o oowmE T %0 &1 a1 = Ul
= RKomm _ﬂ 0 Sm & i R U S BT TV RT ~ 10 %0 & B O
= — 3 I
T s i > Al <k .
ol uw I o ouw / - = © e e e o o - = &N o < 1\ 9
= 0} = S R4 3 R4
o HOUE Mg = PN
® o <o o< ol & ol

B

[}

252

=
[

b

[

e e 202 ALESIH H|S

VICMARC Eccentric Chuck #3 - By francosmith.com



Yo FFL2 WSO VIMARC H2 71 +3 EFeLCEL ZHo| gz HE AH85H7| ?Isto] thaol M EE FHEoHo

FHAIL.

o O ¥ Hz AEc 20l= B E0EE €1 UWFE JHO|H 2202 28 of FHAL & 20= ZE R
FE0 7|EE S 7HEA sFdAlR

ECCENTRIC CHUCK

The Eccentric
Chuck with
Standard

Accessories

Includes
Eccentric Chuck
40mm Cup Chuck
5mm Allen Key T-Bar
4mm Allen Key T-Bar
4mm Allen Key L-Bar
10mm Spanner
8mm Tommy Bar
Gauge #3
Owners Manual

S22 FEELLE B2 822 X|E0] 128mmO|0{ 4742| EE=Z MR FH 0| DLFHELCH M 572 AHS 2y
B HZ0| QSL|CE - M33x3.5, 1-1/4x8 (CIO|HME MP|E)Q OIME EFR! M45x2 -

Sivio] g% 2|20 3712 FHREQI 0| E(FEE)7 ACH, BN 360% 3 =
C}. &8 2 (Cupchuck) TR0 3742 M8 BIE|7| LEAKGrub Screw)7h U0f Zat Ho|A Z2o|=o| 9IxS

oHHYo OlRZ A Y2 HZ SHE HOMES ZEY £ QISUCL Ol 2TA| £9f HH S 2ot AYULE OME =
=2 THO| ZAstD HES A 2o 2Oz SH2E $FC2 &2 WX @e A0l SFLICL
chuck removal using
the tommy bar
optional
safety ring w
(part no. V00670)
HE dutol Aoty Hof A =gt HojAo O|EO| Qle X UYL S ZElE Me 8D 20| EOHE AFA
SELCH HITAl QTS ot AHYS FIZ FOISHH A8 & ASHCH

VICMARC Eccentric Chuck #3 — By francosmith.com 3



ACCESSORIES

22mm Cup Chuck 40mm Cup Chuck !52mm Cup Chuck

V01871 V01872 V01873

=

\—Ball Adaptor

V01874 22mm Ball 40mm Ball
V01875 V01876

V01877 M30x2 Faceplate L V01879

90mm Faceplate
M30x2 Ball
V01878

4 H2 22,40, 52mm M| ZtX] APO|=Z7F Rlenf ZO0|Lt FAl HE Al #&% 90mm HO|& ZYO|EE AFHCH 24240 4
Ho|Lt Ho]~ ZYO|EE 3749 A3F/E 0|8 P04 4 N Heo gAEuch 3 o Heo &

=

& 2tzto] AN MElolE 127}
of of7t ULITH 4% Atelof 'OKE 3024 12740) E7|7k 9T 0|2 olgstol TY flof £1 MY S4o| Cryye

o
Az £8% & AsHCh

% H HYols 22,40, 52mm # |, 90mm HolA ZHOIEQH B OfYHES HE & YSLCL £ 2Y FH5 B2 A
Z517] ISHAE = OfYE|(RE WS V018747 ERELICL M30 x 2 HO|A ZO|EL M30x 2 B0f B & YLk
OIME Oi2EJH Z2E BYO|E(RE# 7)0 YN0 AX| of ACHY S FHOl LHT HEYLICE 3742 F2E ol

E= AMH H® ZdS 37| A8 S| AXKIAIFOF SLCHIH2EYO|EQE HIC|Of BEAlE SdMS LXAZLLDH.

VICMARC Eccentric Chuck #3 — By francosmith.com 4



ALE5H

Rotating the Cupchuck

Unlock the 3 M8 Rotate Cup Chuck to the
Set Screws desired position and relock
the three set screws

Setting the workpiece off centre

Offset
Adjustment

VICMARC
ESCOULEN

VICMARGC
N\ ESCOULEN

Center Position Maximum Offset (30mm)

4N s SH0I2H MISE 10mm AL{HE AFESHY ¢Zol M6 2EE &% E0|F1 NS & Tot d37[= H =0
A =ES =W O2E7 SYYLILE O2ES S50 2ottt MHE TS & UFLILE fIXE T2 20= oAl H &
Bol M6 ZEE HELCh HEAFRYUS S20 7124A =28 dE Z

SN HES AIRSHY| o BEAl & @Ol M6EE 270& CHAl =0{0F BfLICt

VICMARC Eccentric Chuck #3 - By francosmith.com 5



FAH ZE A

Move weights A
and B equally
towards C to
ballance the offset

Central balance
position

B Maximum out of
balance position

C (Inline with front slot)

( Loosen

Or move weights to
suitable position
untill the workpiece
is balanced

Insert 4mm Allen

Move weights to
Key and loosen

desired position
screw to adjust and retighten

ALE351H|

T8 Z(Counterweight) |X|Z7|

L2 FYoA BEEES MYSHD oHX YOLE FLICL FEEES MO 22 BY EYS NS B8N 0R 57 |
s BOOF BLICE 220| Y NS Al 2 FHO| RUCHD SiE MY S0l Fo| XA OHH0IDR HYS o
oA A% WY FEES TR0 LT
ZHO| BY0| US O X O EAS BD RIS SIS 20| UL 1B OFF BE 52 HYZ & AU
Ch 01 SOI, XIS 10cm o B3 Z2AS JIX 7 AC) QTA FHOR HY I FHFELE QTA YIIHOR FHNO 7Y
2 ¥E 4 ABLICL KT &)

F7HEAR

150g(&IcH 4747E] 3t 7k5)
b B2 WY TS0l ANY WK SE8 AMS| 22l HEYLICL BoF TS0 GIrtH oI ME EY0| e HY
LiTh gti2 FS0| AL ECIE RYEo MEH0| WRHLCL J|AS BED RHEES IO Mol =EEA 2 0

Che 8o %= =7t A0IE= & F0f 7hsEH

[=N=]

VICMARC Eccentric Chuck #3 - By francosmith.com



ALE5H

o
IPEKEEE 2Tt A2 FMe K&, Z20|, FAHRED ofLzt =M X|of w2t YL 2YF7 S22 2¥s #
HEL AOEH ¢ =2 7%%%“—“3}. SHA|R, TSO| ACHH TS0l A2t W7HK| =5 ZYLCE oHEst XS <l

M AlOtCH(Tailstock) 2 %|CHB S EFA|7| HEZL|CY.

S22 U =28 7eX|7F 520 Hol=
ot= A2 CHLE ?lzlst AYo|ez Fo|E afL(tt

2(Ball)zt A2 M=

= 82 52 | ZZo28H HOf 152K 28 = A0 ECt XIRFEL HYES f%3+71| ZoIELICHER &X). 21t A3

Of AMO|=& o et et LCch 22mm 20t A2 O 22mm X|59| #+HO| A2l < 40mme| X|S1t Z[CHZHO
o AZE2 LR 40mm X[Ze| FHO| QU0 X|E 2f100mm, Z[CHZO|

52mm ZO0| 1 X|E 2 140mm, %[CHZO| 220mm £ XH0|| AR E LTt

=
90mmeo| =& % 7tsg = UASLLCH 40mm =
110 At20| s Ct 52mm 22

140mmpo| £

X

-
- -

£ O{®E A3

of 20| FELCL 1¥X Fou Hoj=
of ®ole= FEsjoF Fuch

Zero mark

Each line
Represents 5°
increment

20| B2 ATE 515 74X AY B 4 WA PLILh Uets Z4ER 2
22 Mgotn TH A 7|2 o|gtol 22 MUE HIEUL £ 2
Ho] ASRE DF HILOF BLICL AHS YYoh ABOIX s HET)
gEL MABUC

Lock in place
with screws

VICMARC Eccentric Chuck #3 — By francosmith.com 7



Arg3H|
£ EH|
4 A d3H2R A8 QsiMe S8 ZH|of MES MoF UL Bi= BEAl AE AO|OM S8 SR YRE
2tS0f Lt Of &2l ZO0|= CHEF 15mm FZ=7t LIQIOF 31 4% & ROz GHSO0{0F SLICHMED Z20F 31 At
O|=0f &33t= o XISO0IAM CHzf 1= F=o| B o|m)
Zelgs HES R XES FIYSH7| flet ez 2t
2700 7|27] o AO|=E FQlgtL ot F Mo Afo|=
2 83 2ol EEof AFLICH
Ze2|HE 7HN D TR FHEE g Y = AFLILCH
Za|mof FE7) Soh S0{Z Wntx| ASHM 2ot wLC.
(o) YHEE 4% E ZYoZ BHEO] ofzF MMM AF8Ste A0
ZELULCEL Ol S8 =X =22 YWEAA Ho| & O HHEHY
DPAIA HYL = ASLIC
\
straight too conical camber small taper (1°)
YES
Tip
YR8 XE2 Lo US0f Mo gLt FEI HFE LHMO|AL 2ESAL HF JERZY0[H 20t 230 FH HO
SEX| gfob SO{7HA| EUCE ON A% YE HF0|0{0F Lt

VICMARC Eccentric Chuck #3 — By francosmith.com



ALE5H

o
Mo
A
=

|

wwe' |z

Y

)®

22mm ball
and socket

wws'7z
‘ wwgE \

15-20mm

40mm ball
and socket

&

wwe'|§

(e

15-20mm

52mm ball
and socket

ZHIER} g2

1. FX42] F&4S HOHELICHA)
2, B0 A0 S AOIZ2
YRS USUCHB)

wwe'zs

X7t ZH|IZ|® orefe| oY EALE Wl FH|E L C

of2% =Xt
1 ¥eE YU
2. =7 7§ et gao
3. % Mg 9c oL WXY S2ELLIC
4 YXE 2SS £S5 T N MR Yalh
5. OMEZ Ho| B Mg EAFUC
6. HYLEZ 0|8510] 2EXE X|H|ZLIC
7. 2Uol mdg HFULCH
8 XYt £ E MEdSL|CH
9. HEE AR
10. Good Luck.

VICMARC Eccentric Chuck #3 — By francosmith.com



PARTS LIST
ITEM QrY PART NUMBER DESCRIPTION
1 1 Inner Body
2 3 M8 x 25 Socket Set Screw - Flat
= g VICMARC ESCOULEN CHUCK
4 1 Outer Body
5 4 M6 x 16 Socket Countersunk Screw
o - EXPLODED VIEW DIAGRAM
7 1 Cover
8 3 M6 x 20 Socket Head Cap Screw
9 1 Cup Chuck Pickup
10 3 M8 x 10 Socket Set Screw - Cone
11 2 M6 Washer
12 2 M6 x 20 Hexagon head screws - High Tensile
13 1 Cup Chuck 40mm
14 1 M6 Threaded Rod ®
15 1 M6 Coupler \\/ICAARC mﬂl[!im
16 1 M6 x 16 Socket Head Cap Screw
17 2 Roll Pin 2 x 10

Vicmarc - Escoulen
Eccentric Chuck
and Accessories

22mm Cup Chuck
52mm Cup Chuck
V01871 V01872 V01873 ?

V01874 22mm Ball 40mm Ball
Thread Sizes Available V01875 V01876
M45x2  (Insert Type) - V01868

M33x3.5 (Direct Thread) - V01869

14"x 8 (Direct Thread) - V01870

Standard Chuck Includes:
- Tommy Bar 8mm

- 5mm Allen L-Bar

-4mm Allen L-Bar

- 4mm Allen T-Bar

- #3 Gauge

- 10mm Spanner

- 40mm Cup Chuck

- Owners Manual

e e

90mm Faceplate
M30x2 Ball V01879

\VIC_M ARC" MACHINERY Votb7 120 Fcepte

VICMARC Eccentric Chuck #3 — By francosmith.com 10



